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. P+ B EME (Central limit theorem)
2. ERME R (confidence interval)

3. ¥ o (homoscedasticity)

4. X Z4EM (interaction effects)

5. REME (one-tailed test)

6. IESB F - (nonparametric methods) l
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I. When all variables are standardized using the Z-scale, the regression coefficients for the m predictor
variables are:

(1) equal (2) beta weights (3) equal to raw-score regression coefficients (4) parameters

2. If variable Y is predicted from variable X and the resulting residuals are correlated with variable Z, this '
- correlation is a

(1) part correlation  (2) partial correlation (3) multiple correlation (4) stepwise multiple regression

3. The t-statistic is used to test H, : uy=k when 1S not known.
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4. If H, is true but has been rejected, what type of error has been made?
(1) Type I error (2) Type II error (3) Type Il error  (4) no error.

5. In which of these situations would be a directional alternative hypothesis about p be reasonable?

(1) male-female and popularity among high-school students

(2) IQ and number of languages spoken

(3) Performance in entrance exam and prior school achievement
(4) Personal traits and sports preference
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6. If most students in the statistics class has read the book so carefully that they knew the answers to almost all
questions on the mastery test, the scores would be expected to be

(1) normally distributed (2) bimodal (3) skewed negatively  (4) skewed positively

7. One study on heart attacks reported that persons who attend church regularly had a lower risk of heart -

attacks than nonchurchgoers. Assuming the information is valid, which one of the following statements is
correct?

(1) If you start attending church more regularly, your chances of a heart attach are certain to be reduced.
(2) There is definitely no causal relationship between the two variables.

(3) If you are a regular churchgoer, you are less likely to have a heart attach than if you are a
nonchurchgoer.

(4) The correlation provides definitive information pertaining to causation.

8. Which term least belongs with other three?
| (1) percentile (2) correlation (3) regression (4) prediction

9. An experimenter wishes to have subjects learn a list of paired association in all possible orders of the six

pairs. Each subject can learn the list only once. How may subjects would be required if a different
subject is required for every possible ordering of the six pairs?

(1) 720 (2) 60 (3)600  (4)72

10.Which of the options are statistical hypotheses associated with testing for a differences in means?

(HDH: =100 (2) Ho: 1y =1y (3) Ho: X=X, (4) none of above _
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(b) HRAK=MAARAZFEATH % ? (6%)
(¢) FRAZBLBMERRAFLZHTER ? HRGINA (8%)
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